

Order of Operations - 1

$3 \div 3 \div 1 =$

$2 - 3 \div 3 =$

$4 \times 3 - 2 =$

$2 - 1 \times 3 =$

$2 \times 4 + 3 =$

$3 \div 3 + 3 =$

$3 + 2 \div 2 =$

$2 + 2 \div 1 =$

$3 + 1 \times 1 =$

$1 \times 4 - 1 =$

Order of Operations – 1 Answers

$$3 \div 3 \div 1 = \underline{1}$$

$$2 - 3 \div 3 = \underline{1}$$

$$4 \times 3 - 2 = \underline{10}$$

$$2 - 1 \times 3 = \underline{-1}$$

$$2 \times 4 + 3 = \underline{11}$$

$$3 \div 3 + 3 = \underline{4}$$

$$3 + 2 \div 2 = \underline{4}$$

$$2 + 2 \div 1 = \underline{4}$$

$$3 + 1 \times 1 = \underline{4}$$

$$1 \times 4 - 1 = \underline{3}$$